
Time: 10 Minutes Paper Math 8 (T-1) Total Marks: 10

6th Month, 3rd Week, 2nd Day Ex. 5.5 Q # (5,6,7,8)

//// Answer the following questions:     (2 × 5 = 10) ŠŠŠŠ,,,,XXXX ŠŠŠŠgggg̀`̀̀ffffssssÎÎÎÎZZZZÑÑÑÑ]]]]ÆÆÆÆ����ZZZZ[[[[
(i) Find the probability of each or the following:

ŠŠŠŠgggg̀`̀̀ffffssssÆÆÆÆCCCCÙÙÙÙZZZZqqqq----~~~~ÐÐÐÐāāāā]]]]¥¥¥¥xxxx™™™™,,,,XXXX
(a) the digit "5" appears on rolling a dice.

(b) the digit "5" does not appear rolling a dice.

(c) the digit "3" appears on rolling a dice.

yyyy����̃̃̃̃tttt6666,,,,ªªªªCCCCÙÙÙÙƒƒƒƒ@@@@****ììììXXXX 5 (a)

»»»»yyyy����̃̃̃̃tttt6666,,,,ªªªªCCCCÙÙÙÙ7777ƒƒƒƒ@@@@****ììììXXXX 5 (b)

»»»»yyyy����̃̃̃̃tttt6666,,,,ªªªªCCCCÙÙÙÙƒƒƒƒ@@@@****ììììXXXX 3 (c)

(ii) The probability that the team will win the match is 0.86. What is the

probability that the team will not win the match it.

ììììXXXXZZZZkkkk!!!!****]]]]»»»»HHHHZZZZkkkkyyyyììììāāāāššššòòòò7777ÛÛÛÛAAAA0000****ññññÏÏÏÏXXXX 0.86 ššššÆÆÆÆòòòòÝÝÝÝ§§§§»»»»ZZZZkkkkyyyy
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